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9.75 LetY, Y,,..., Y, be a random sample from the probability density function given by
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Find the method-of-moments estimator for 6.

/ ]
Y~ Betoldf), oot EI= &g =7,

A
[ L
BV G5 = wm 9= &



MLE .
fixig) s pof fpvef .
3ﬂ(x.r-,»<n;a)=_'1f; {06 78) goint pelf -
Lol ot g0) Bbkod fustin T o egson spuine
K 0K Kn)  posterior duiity of 6 gren uniferm prior.

- () MLE.
é\,M?MGﬂXLV\ )

9.80 Suppose that Yy, Y, ..., Y, denote a random sample from the Poisson distribution with
mean A.
a Find the MLE A for A.
b Find the expected value and variance of A
¢ Show that the estimator of part (a) is consistent for A.
d Whatis the MLE for P(Y =0) = e *?
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9.97 The geometric probability mass function is given by

pyIp=pA-p)Y~',  y=123,....
A random sample of size n is taken from a population with a geometric distribution.

a Find the method-of-moments estimator for p.
b Find the MLE for p.
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